[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

10 12 14 16 18 20

track x?

9] F 1%} F 4] - 0
x x < x
[*] 5] - 5] 5]
g S g 8
= S 05k 5 s
E STE £ g
F s F 8 8 10?
[ I =
10°F 10°F 3
10°F 10°F 10
10%F - 10%F
10f=--i--= b 10
E 1 1 1 1 1 1 1 1 1 E Hl i 3
Q v w1 HIF e =] S I
£ ol : 3 5 8 A
e F * H H x 14 R 2 fBES
1?’+.+++'H'. : il ;]
R MTE HECE T TR F q 0.95F - - A L R Rt
O'TJ 2 4 6 8 10 12 14 16 18 20 8 10 12 14 16 18 20 O'TJ 0 12 14 16 18 2 OT) 2 4 6 8
track x2 track x2 track x2
DOM_TT_original
N of reco track vs. DQM_TT_newscoreonlyINIT erset
1%} 2] F 0
< X o x
3 ] g
--------------------------- = 10°F =0k 5
] S i 15
10°F s
=3
o
¥
10° s
ra
102 g
Fort
V
=] ‘ o =] =]
g Il g g g
o 14 o 14

|
|

I




	Contents
	Page 1


